MERS

21st Century Modern Mathematics
1D

15 Subtraction (2)

' ension:«Num?
T It: IN5 Addition an trac

21st Century Modern Mathematics




1 Sharing food

These are
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1 Sharing food

2

In the units place. Then,
| subtract the numbers in the

- tens place.
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First, subtract the numbers\
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2 How many food items are left?
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How many are left? 14 - 11=| 3
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‘ 6 {Do we need to write 1 4
.2 >_ a ‘0’ In tens place?
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2 How many food items are left?
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How many are left? 28 - 18 =
/
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2 How many food items are left?
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3 At a fruit shop

1 There were 53 oranges.(” __ .
20 of them were used | °5 'S €105€ 10 50,
to make orange juice. The answer is close to:

How many oranges are| 50 —20 =| 30

left? N

53 — 20 -
=33 — 20

33 oranges are left. 33
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3 At a fruit shop

2 There are 32 apples and
12 kiwi fruits. How
many more apples are
there than kiwi fruits?

32 || 12

20

Thereare 20 more
apples than kiwi fruits.

21st Century Modern Mathematics

The answer IS
close to...
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3 At a fruit shop

W 3 There are 21 boxes of
pears and 28 boxes of —Which is the subtrahend
mangoes. How many hich Is the minuenad?
fewer boxes of pears
are there than

mangoes? 28
28 — 21 - 21
>

= 7/

Thereare 7 fewer boxes of
pears than mangoes.
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Exercise JT5,

Fill in the blanks.

0 70 2 30 3) 94
- 20 — 13 — o4
50 23 40
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Exercise JT5

Fill in the blanks.

(4) 67 —42=| 25 (5) 55-20=| 35

(6) 89 —45=| 44 (7) 31-11=| 20
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Solve these problems.

10 There were 63 books.

21 of them were borrowed away.
How many books are left?

63 -21

42

4?2 books are left.
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Solve these problems.

*@ There are 30 picture books and
32 storybooks.
How many more storybooks are
there than picture books?

32 —30 32
— 30
= 7 2

Thereare __2 more
storybooks than picture books. jﬂwx o contre
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Do you remember the
compositions of 107
Complete the table

\.on the right. V_/
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Interesting calculations

1 Let’s see how to calculate.
Write <12’ as 10 + 2.

12 - 3 =7 First, subtract 3 from
10 to get 7. Then, add
10)(2) 210 /7 to get 9.
- /
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Interesting calculations
2 Let’s try!
a 15 - 6 = 7

10 (5)
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Interesting calculations
2 Let’s try!
b 14 - 9 =7

10 (4)
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